Have your homework out and ready to check. Test on Thursday!

Classwork - Distance Formula

1) Giraph the following points. Label the points.” == =
Point U (-3,-3)  Poing F (0, 5) Point O (6, —3)
A) If you connect the points, what tvpe of polygon do they form?
Be az specific as possible. _ | Z- tt
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B) Find the length of each side of the polygon. Round to the E A
nearest tenth when needed. t x
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C) Find the perimeter of polygon that the points formed. D) Find the area of the polygon.
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2) Graph the following points, Label the points

Point J (—4,—6)  Point U (=2, —2)

Point M (3,-2)  Point P (4,~6)

A) If you connect the points, what type of polygon do they form?

Be as specific as possible,
f[}b-?ﬁn:d -«
B) Find the length of eachside of the polygon. Round to the ] ;
nearest tenth when needed.
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) Find the perimeter of polygon that the points formed. D) Find the area of the pnlygan
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3) Graph the following points. Label the points ”

PointH (-8, 5)  Point E (-3, 8)

Point A (=3, 1) Point T (—8,-2) .|L

A) If you connect the points, what type of polygon do they form? I

Be as specific as possible.
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B) Find the length of each side of the polygon. Round to the

‘nearest tenth when ngeded.
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C) Find the perimeter of polygon that the points formed. D) Find the area of i
P=€8+7,58:7 =35 “‘E;Sun:h'l:l
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4) Graph the following points. Label the points.
Point 8 (—6,4) Point U (—3,-2) Point P (2,-2)
A) If you connect the points, what type of polygon do they form?
Be as specific as possible.

Obtuse Triangle
B) Find the length of each side of the polygon. Round to the
nearest tenth when needed.
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C) Find the perimeter of polygon that the points formed. D) Find the area of the polygon.

P=¢.3esti0 A= 36X5)
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Distance Formula
Symbols The distance d between Model Yo ? ‘_, 51
- ¥

two points with coordinates /.'
(x4 yy) @and (x5, ¥3) \
the formula c / b
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You can also use the Distance Formula to find the distance between
two points on the coordinate plane. You can use the model from the
Key Concept box to see how the Distance Formula is based on the
Pythagorean Theorem as shown below.

1‘,‘.‘2 = i::l'1 + r.‘.l'2 Pythagorean Theorem

= {I:—IJE + (¥, — j-",l}: Substitute. The length of side o is (x, — x}),
and the length of side b is [y, — y)

L= \lllrﬂxz - .1'1]2 + l:_!;’2 - _l_-"}: Definition of square root




%) Example -

2. On the map, each unit represents 45 miles. West Point, New York,
is located at (1.5, 2) and Annapolis, Maryland, is located at
(—1.5, —1.5). What is the appraximate distance between

West Point and Annapolis?
Use the Pythagorean Use the Distance Formula
Theorem Let x, ) = (15, 2) and
Let ¢ represent the (x5, ¥a) = (—1.5, —1.5).
distance between West - 3
Point and Annapolis. £ 1"'['."* = xf + =y
Thena = 3 and c= /(=15 — 15 + (=15 - 2)2
b=35
a4 ple ¢ = (-3 +(-35
324 352 = o2 c=+9+12.25
2125 = ¢ c= V225
4.6
/3125 = V& °=
+46=¢

Since each map unat Eﬂl..l-ﬂﬂfi- 4% miles, the distance betwean the
cithes Is 4.6 « 45 or about 207 miles.



Got I¥7 Do this problem to find out.

b. Cromwell Field is located at (2.5, 3.5) and Dedeaux Field at
(1.5, 4.5) on a map. If each map unit is 0.1 mile, about how far

(. "5 ;E . d=\\1.5~29) "+ (4.5-3.9)-
S35
i BAISHRIOE
ERE _
) T

ﬂ(_w 01‘_‘“‘:‘ = W ﬁ "-\ " L\ L’s"l:{';;



'Example

3. Use the Distance Fprmula to find the distance between
X(5, -4) and ¥{—3,=2). Round to the nearest tenth if

necessary.

d= '14({"'2 - 11}1 +(y; — }'JJ Distance Formula
XY=1/(—3 — 5)2 + [-2 — (—4)]2 g o) = (5, —4),

4 (. ¥y) = (=3, —2)

Xy =1/(-8)2 + 22 Q Simpilfy.
XyY=+64 +4 Evaluate (—8)% and 2¢
XY= "n.r’ﬁ Add 64 and 4
XY= 182 Simplify.

So, the distance between points X and Y is about 8.2 units.



Guided|Practice]

1. Graph the ordered pairs (1, 5) and (3, 1). Then T T T &y

¥
find the distance between the points. Round
to the nearest tenth if necessary. [Fxample ! q‘] 'l
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2. On a park map, the ranger station is located at (2.5, 3.5) and the nature
center is located at (0.5, 4). Each unit in the map is equal to 0.5 mile,
What is the approximate distance between the ranger station and the

nature center? .. d: 4.
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4. A ferry sets sail from an island Iggated at {4..' 12) on a map. lts
destination is Ferry Landing B aﬁg, 2). How far will the ferry travel if each

unit on the grid is 0.5 mile? [Example 2)
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Use the Distance Formula to find the distance between each pair of points.
Round to the nearest tenth if necessary. ©orpe )

¥ o-5, -3), D(-4, -2) | 6. Y[3.5,1),Z(—4, 2.5) . k85, 12).1(-63.74)




